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[ B9 1 =21 58 | 46 | 104 | 36.0 | 68.0 || 61 |HI =5 49 | 45 94 [ 19.2 [ 74.8 || 121 |3ZfE 1& 51| 50 | 101 | 24.0 | 77.0 || 181 (AT 60 | 47 107 | 26.4 | 80.6
2 |HF B’&X 45 | 47 92 | 22.8 [ 69.2 || 62 |&F *xFB 47 53 | 100 [ 25.2 [ 74.8 || 122 |%& = 49 | 52| 101 [ 24.0 | 77.0 || 182 [iE:#2 AZEF 51 49| 100 | 19.2 | 80.8
3 |t Eif 51 | 45 96 | 26.4 [ 69.6 | 63 |l IEF 51 | 49 100 | 25.2 | 74.8 || 123 |#%ME 1E5h 53 48 | 101 | 24.0 | 77.0 | 183 |thE {@—ER | 43 | 50 93 | 12.0 | 81.0
4 12X Fh 43 52 95 125.2 [ 69.8 | 64 |HIl = 53 47 | 100 | 25.2 | 74.8 || 124 |vE {E1T 46 42 88 | 10.8 | 77.2 || 184 |F+t BEH 56 49 [ 105 [ 24.0 | 81.0
5 [JN#E BAR 56 | 50 | 106 | 36.0 | 70.0 || 65 |4t Hi 55 | 51 106 | 31.2 | 74.8 || 125 |Bi& #24 48 | 46 94 116.8 [ 77.2 || 185 |HH =EHC 56 | 55 111 1 30.0 | 81.0
6 |AfE FE 4 | 43 87 |1 16.8 | 70.2 || 66 |4 EHif 47 40 87 |1 12.0 | 75.0 || 126 |#FM& 384 48 | 46 94 1 16.8 | 77.2 || 186 |Ft ®WH 50 [ 60 110 | 28.8 | 81.2
1 #8858 HEX 43 42 85| 14.4 1 70.6 | 67 |#2F f@= 45 | 42 87 | 12.0 | 75.0 || 127 |8 &A— 52 48 | 100 | 22.8 | 77.2 || 187 |&% BRH&E 58 | 58 116 | 34.8 | 81.2
8 |luA F5H 39| 36 75| 3.6 [ 7.4 68 | %2z 50 | 43 93 | 18.0 [ 75.0 || 128 |:iZH % 54 | 46 | 100 | 22.8 | 77.2 || 188 |RLt H&E 52 50 [ 102 [ 20.4 | 81.6
9 |H f2= 43 38 81 9.6 | 71.4 | 69 [KK BEZ 57 | 54| 111 | 36.0 | 75.0 || 129 |#&A =F5 | 50 | 56 106 | 28.8 | 77.2 || 189 |"fH %HRzZ 50 [ 52 102 | 20.4 | 81.6
10 |ARFt % 43 | 44 87 1 15.6 | 71.4 ]| 70 |5t EHF 42 38 80 | 4.8 [75.2 130 |E/\ #1& 956 56 | 112 [34.8 | 77.2 || 190 [T A 1§ 56 | 46 102 | 20.4 | 81.6
" |EHN =i 4 | 42 86 | 14.4 | 7T1.6 | 71 |BHHE EH 50 | 42 92 [ 16.8 [ 75.2 [ 131 |#4 ZWER 48 | 45 93 | 15.6 | 77.4 || 191 |#E & 57 57| 114 32.4|81.6
12 |lWAx  EW 44 | 48 92 [ 20.4 [ T1.6 || 72 |® &= 46 46 92 116.8 [ 75.2 || 132 |M% (&% 53 | 46 99 | 21.6 [ 77.4 | 192 | =B 50 51 101 | 19.2 | 81.8
13 |4t FkE 59 [ 51 110 | 38.4 | 71.6 || 73 |HE X% 47 45 92 | 16.8 | 75.2 || 133 |#H#t P& 49 | 50 99 | 21.6 | 77.4 || 193 |#f1lL #5H 48 59 [ 107 [ 25.2 | 81.8
14 |E Rt 4 38 9 7.2 (7.8 74 | £l f#&x 49 | 43 92 116.8 [ 75.2 || 134 |&0 &: 54 51 106 | 27.6 | 77.4 || 194 |=FE #% 51 | 43 94 | 12.0 | 82.0
15 (K& & 4 [ 4 86 | 13.2 | 7T1.8 || 75 |AN BAA 46 46 92 116.8 [ 75.2 || 135 |IuiA & 46 | 46 92 | 14.4 [ 77.6 || 195 |RE i& 56 [ 56 112 1 30.0 | 82.0
16 (Al HE 46 | 39 85 | 13.2 | 71.8 || 76 |#L &R 47 | 45 92 | 16.8 | 75.2 || 136 |#&H IEX£ 46 46 92 | 14.4 [ 77.6 || 196 |/h#k HEBK 51 48 99 | 16.8 | 82.2
17 |& 53 49 | 48 97 | 25.2 [ 7.8 | 77 |[dhl =F 48 | 50 98 [ 22.8 [ 75.2 || 137 |HH 3h 46 | 46 92 | 14.4 [ 77.6 || 197 | A BB 54 50 [ 104 | 21.6 | 82.4
18 (g §h 45 | 39 84 1120|720 || 78 |50 #5E 51 46 97 | 21.6 [ 75.4 || 138 | L% EF 49 55 | 104 | 26.4 | 77.6 || 198 | Kk 2z 51 [ 53 104 | 21.6 | 82.4
19 [JliF IEE 4 43 84 1120|720 79 |’kB BEF | 56 53 | 109 | 33.6 | 75.4 || 139 |@L {EZBR | 57 53 | 110 | 32.4 [ 77.6 || 199 |FHi& =i 63 | 46 [ 109 | 26.4 | 82.6
20 |E% BAx 39 44 83 110.8 [72.2| 80 |AR HR 42 | 42 84 | 8.4 1756 140 |Ki5 Fi 62 | 54| 116 [38.4 | 77.6 || 200 [’ &4 95 | 52 107 | 24.0 | 83.0
21 |/hE H:E 45 43 88 | 15.6 | 72.4 || 81 |#A IEX 51 | 45 96 | 20.4 [ 75.6 || 141 |G ®Z 50 | 47 97 119.2 [ 77.8 || 201 |{B&E & 66 | 57 | 123 | 40.0 | 83.0
22 (lux B 51 | 49 100 | 27.6 | 72.4 | 82 |RihE iERE | 44 52 96 | 20.4 | 75.6 || 142 |RH MDF 49 | 48 97 119.2 [ 77.8 | 202 |#fA F 52 52| 104 ]20.4 | 83.6
23 |% FET 4 | 43 87 | 14.4 [ 72.6 || 83 |A+t Hif 53 | 49 102 | 26.4 | 75.6 || 143 |#&N A&k 45 45 90 | 12.0 [ 78.0 || 203 |mA&R 1& 53 | 57 110 | 26.4 | 83.6
24 &R EH 51 | 48 99 | 26.4 | 72.6 || 84 |lUA FH+I 56 | 46 | 102 | 26.4 | 75.6 | 144 |& £ 43 47 90 | 12.0 [ 78.0 || 204 |HH Eth 46 | 45 91 1.2 ]83.8
25 |54 FEX 57 | 48 105 | 32.4 [ 72.6 || 85 |& #EX 42 47 89 | 13.2 [ 75.8 || 145 |Hv#H =& 47 43 90 | 12.0 [ 78.0 || 205 |EHA *F 66 | 58 124 | 40.0 | 84.0
26 (&) B 43 | 43 86 [ 13.2 | 72.8 | 86 |AHE FHBCT | 47 | 42 89 | 13.2 | 75.8 || 146 |FA #zBy [ 44 | 52 96 | 18.0 [ 78.0 | 206 |4t = 59 | 42 101 | 16.8 | 84.2
27 |&F wE 42 44 86 | 13.2 | 72.8 || 87 |HA ®— 45 44 89 | 13.2 | 75.8 || 147 |t FIEK 49 47 96 | 18.0 [ 78.0 [ 207 |[#x&K EF] 59 | 66 125 | 40.0 | 85.0
28 (& FME 43 | 43 86 [ 13.2 | 72.8 || 88 |5 = 45 | 44 89 | 13.2 [ 75.8 || 148 |dIA =RE 49 | 53 102 | 24.0 | 78.0 [ 208 |/h#k  3A 58 | 55 113 1 27.6 | 85.4
29 | Kz %= 48 37 851 12.0 | 73.0 || 89 [dLJi FisE 47 | 48 95 |1 19.2 [ 75.8 | 149 |dt)il FOm 51 51 102 | 24.0 | 78.0 || 209 |t IEX 54 | 51 105 | 19.2 | 85.8
30 i B- 52 | 45 97 [ 24.0 [ 73.0 || 90 |54 17 49 | 52 | 101 |25.2 | 75.8 || 150 [T+ {E1& 4 | 45 89 110.8 | 78.2 || 210 |5 R¥&E 58 52 | 110 [22.8 | 87.2
31 [hnE&k FA 43 [ 4 84 [10.8 | 73.2 | 91 | RT 53 | 48 101 | 25.2 [ 75.8 || 1561 |/hA EXR 51 | 44 95 | 16.8 [ 78.2 || 211 |5 =& 61 67 128 | 40.0 | 88.0
32 (JER FiE 43 47 90 | 16.8 [ 73.2 || 92 |XH 38h 58 49 | 107 | 31.2 | 75.8 || 152 E?EB IE % 50 51 101 | 22.8 | 78.2 || 212 |4 #& 51 60 111 ] 22.8 | 88.2
33 [RE Mz 45 | 45 90 [ 16.8 [ 73.2 | 93 |HF#EE & 46 | 42 88 |1 12.0 | 76.0 || 153 |& /N 50 | 51 101 | 22.8 | 78.2 || 213 |t HEETF 13| 57| 130 | 40.0 | 90.0
34 | KU R 47 49 96 | 22.8 [ 73.2 || 94 |¥EE {&xX 44 44 88 | 12.0 | 76.0 || 154 |E3#F 1&X 47 41 88| 9.6 | 78.4 | 214 |BBX XX 68 65 | 133 | 40.0 | 93.0
35 |/hM#k BhZE 40 | 43 83| 9.6 |73.4| 9 |8 & 49 51 100 | 24.0 | 76.0 (| 155 |#df ﬁf; 4 | 44 88 9.6 |78.4
36 |#E T 50 [ 39 89 | 15.6 [73.4| 96 |48 &HF 48 | 45 93 |1 16.8 [ 76.2 | 156 | *F 49 45 94 | 15.6 | 78.4
3 |=5 i# 43 | 45 88 | 14.4 [ 73.6 || 97 |lu;t ABK 44 1 49 93 | 16.8 | 76.2 [ 157 |F0MH sﬁa$ 44 | 43 87| 8.4(78.6
38 |2AK EiR 43 | 45 88 | 144 (736 98 |&#A EXR 55 | 44 99 | 22.8 [ 76.2 || 158 | K& B 48 44 92 | 13.2 | 78.8
39 [FX SF 46 | 42 88 | 14.4 | 73.6 || 99 | K+t BEH 49 | 50 99 |1 22.8 [ 76.2 || 159 |AHH &t 45 | 47 92 | 13.2 | 78.8
40 |EHED B% 50 | 44 94 120.4 [ 73.6 || 100 |HiE 1§ 43 | 43 86 | 9.6 [76.4] 160 |BE B 53 | 51 104 [ 25.2 | 78.8
41 (H#LE & 52 | 48 | 100 | 26.4 | 73.6 || 101 |&Rk#t =EF0 43 49 92 | 15.6 | 76.4 || 161 |#&#+f FOEA 56 47 1 103 | 24.0 | 79.0
42 |&#F #X 48 | 45 93 119.2 [ 73.8 || 102 | KA & 47 | 45 92 | 15.6 [ 76.4 || 162 |N&E BLB 56 [ 53 | 109 | 30.0 | 79.0
43 |BE X 43 | 43 86 | 12.0 [ 74.0 || 103 |H# IEE 50 | 48 98 | 21.6 | 76.4 || 163 |FEE =R 48 | 48 96 | 16.8 | 79.2
44 \5H JEF 46 46 92 1 18.0 [ 74.0 || 104 |/ % 54 | 50 | 104 | 27.6 | 76.4 || 164 |H)Il &L 50 52 | 102 [ 22.8 | 79.2
45 B &8 43 | 42 85| 10.8 | 74.2 | 105 |F# &F— 52 | 45 97 |1 20.4 [ 76.6 || 165 |JUAT flith 59 [ 49 | 108 | 28.8 | 79.2
46 |BEFH =B 4 [ 4 851 10.8 | 74.2 || 106 |dL#f /NZ=ER 51 | 46 97 120.4 [ 76.6 || 166 |FF £t RX 51 48 99 [ 19.2 | 79.8
41 | K —1f 44 53 97 | 22.8 [ 74.2 || 107 | KR =57 46 51 97 120.4 [ 76.6 || 167 |#fA I3 52 | 41 99 [ 19.2 | 79.8
48 |FEF & 50 | 47 97 | 22.8 | 74.2 | 108 |Jltw BRE 48 | 49 97 1 20.4 [ 76.6 || 168 |&T % 54 | 45 99 [ 19.2 | 79.8
49 [ BIx 42 | 42 84 9.6 | 744|109 |ILKX ExEF 50 | 53| 103 [26.4|76.6| 169 (& & 50 | 48 98 | 18.0 | 80.0
50 |#BR EEX 46 44 90 | 15.6 [ 74.4 || 110 |BR&y EBhsE 44 | 46 90 | 13.2 | 76.8 (| 170 |iTIR &= 51 | 47 98 | 18.0 | 80.0
51 |BE HE 50 | 46 96 | 21.6 [ 74.4 || 111 |#fE F& 49 47 96 | 19.2 [ 76.8 || 171 |8k Mz 48 | 50 98 | 18.0 | 80.0
52 |FH E=: 53 49 [ 102 | 27.6 | 74.4 || 12 |RE XA 50 46 96 | 19.2 [ 76.8 [ 172 |&#R B 55 49 | 104 | 24.0 | 80.0
53 [B# RiE 51 | b1 102 | 27.6 | 74.4 || 113 |#*E£ IERE 50 52 | 102 [ 25.2 | 76.8 || 173 [H[R & 53 | b1 104 | 24.0 | 80.0
54 |IMEZ 3R 53 | 49| 102 [ 27.6 | 74.4 | 114 [#L AEF | 56 46 | 102 | 25.2 | 76.8 || 174 [thE FHF 53 57 | 110 [ 30.0 | 80.0
55 |EkE 40 | 43 83 | 8.4 | 746 115 |/NZE tk—BER | 52 | 50 102 | 25.2 | 76.8 || 175 |®i; &R 59 | b1 110 | 30.0 | 80.0
5 |AxT W 42 # 83| 8.4 (746 116 |IL:Z 574 51 | b1 102 | 25.2 | 76.8 || 176 |mK 1% 49 | 42 91 | 10.8 | 80.2
57 fE<K EA | 53 | 54 107 | 32.4 [ 74.6 | 117 |&0 E&HF 52 56 | 108 [ 31.2 | 76.8 || 177 K ZEEF 52 | 45 97 | 16.8 | 80.2
58 |#E BHF 38 | 44 82| 7.2 |74.8 | 118 |/h&& {E=HER [ 45 38 83| 6.0 77.0( 178 |luAx MR 55 [ 54| 109 | 28.8 | 80.2
59 [Z£H#H IEC 46 42 88 | 13.2 | 74.8 || 119 |4 A# 45 | 38 83| 6.0 |77.0( 179 |EH EIE 43 53 96 | 15.6 | 80.4
60 |FH —hk 49 | 45 94 119.2 [ 74.8 || 120 |/ BUE 49 40 89 112.0 [ 77.0 | 180 |K%T #lik 53 54 | 107 [ 26.4 | 80.6
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